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(ai W57 1ACa) TEFC BB 11,5007 [yl 11,595"
(b) %57 1A(b) ZFifl1 > LM "18,680" [ fEI) "18,430" ;
(¢) 75T 1B(a) T B 11,500 i) "11,595" ;
(d) %57 1B(b) ZFifl > b "18,680" [ fEI) "18,430" ;
(e) 25 1(a)(i) i Wk "21,190" o8I} "19,270" ;

(f) 8T 1(a) (i) “Hfl - Ff& "10,600" Jipfer) "9,320" ;
(2) 23 1(b)(i) “fiflt - Zmf* "4,890" I} "4,530" ;

(h) T2 1(b)(i1) “Fiflr- ke "2,450" [hyfer] "2,465" ;
(1) 5% 2(a)(i) Zfiflt - Ffs "38,880" jijf<I}] "29,820" ;
(J) 5 2(a)(ii) FFfr B 119,440 [yfer) "14,840"
(k) 87 2(b) (1) “FIflr- @mh= "3,760" [iifer) 2,915 ;
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